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cg'dflgt cg'dflgt

l;=g+= cfo ;|f]t lzif{s  cfo /sd l;=g+= ah]6 vr{ lzif{s  Joo /sd s}lkmot

1 cfGtl/s ;|f]t cfo 85220000.00 1 rfn' vr{ vftf tkm{

2 g]=;/sf/ lg;t{ cg'bfg-rfn'_ 0.00 s pkef]u÷sfof{no ;+rfng÷cg'bfg vr{ 85855000.00

3 g]=;/sf/af6 ;fdflhs ;'/Iff j[lQ cg'= 53550000.00 v ;]jf ;kmfO vr{ 18000000.00

4 ut jif{sf] df}Hbft /sd lhDd]jf/L ;/]sf] 35830664.98 u bdsn / vfBfGg vr{ 10200000.00

*= ;fdflhs ;'/Iff j[lQ 53550000.00

174600664.98 167605000.00

1=1 g]=;=;zt{ cg'bfg -ljleGg sfof{no_ 114885000.00 1=1 ljleGg sfof{nosf] ljifout vr{ 114885000.00

rfn' tkm{ 289485664.98 rfn' tkm{ 282490000.00

2 afXo ;|f]tsf] cfo 2 k'+hLut vr{ vftf tkm{

g]=;=z;t{ cg'bfg -;LdfIf]q lj=sf=_ 3000000.00 6=01 kmlg{r/ 1000000.00

g]=;= lg;t{ cg'bfg ljQLo ;dfgLs/0f 229434000.00 6=02 ;jf/L ;fwg 3500000.00

;8s af]8{ g]kfn 10000000.00 6=03 d]zLg/L cf}hf/ tyf cGo pks/)f 1500000.00

gu/ ljsf; sf]if cg'bfg 2500000.00 6=04 ejg lgdf{)f 0.00

hUuf /lh]i6«]zg 15000000.00 6=05 ;fj{hlgs lgdf{)f g=kf= vr{ 203219664.98

Pn=hL=;L=8L=kL= cg'bfg 6500000.00     ;fj{=lgdf{)f cfO{=o'=*L=kL vr{ 149125000.00

P=8L=aL=af6 cfO{=o'=l8=kL=sf] nflu cg'bfg 118300000.00     ;fj{=lgdf{)f cf/=o'=*L=kL vr{ 712500000.00

P=8L=aL=af6 cf/=o'=l8=kL=sf] nflu cg'bfg 684000000.00     ;fj{=lgdf{)f ;*s af]*{ vr{ 14285000.00

g=lj=sf]ifaf6 cfO{=o'=l8=kL=sf] nflu C0f 22100000.00     ;fj{=lgdf{)f Pn=hL=;L=*L=kL=vr{ 6500000.00

nfut ;xeflutfaf6 k|fKt 1200000.00 8 k'+hLut cg'bfg 2400000.00

ut jif{sf] lhDd]jf/L 0.00 10 ;f+jf e'QmfgL 5000000.00

k'+hLut tkm{ 1092034000.00 1099029664.98

s'n hDdf 1381519664.98 1381519664.98

gf]6 M— cfGtl/s ;|f]t / df}Hbft tkm{sf] art /sd ?=^(,(%,^^$.(* k'+hLut vr{ lzif{sdf ljlgof]hg ul/Psf] 5 .

l;4fy{gu/ gu/kflnsf 

                          cf=j= @)&$÷)&%                                

;|f]tut lzif{s cg'dflgt cfo—Joosf] ljj/0f 

gu/ sfo{kflnsfsf] sfof{no 


